Discussion
rsday, May 27, 2

Ch 32 Tms/&w{-&’\ a,P 2_ LU,C

4 L Xe oe two BV on v bae ewo o LUs Yo Y dgmd ac foffous
Yorw (X, %) Vem w(%%)

Ml e hae o gowe p4P of XAX ac Plx,z)

Qi how o ne e the o pdp of WAV = 5 )22

Sep O¢ Fud e uon op Vi Lh, oo Lo of % 26y od Jocts td 4

Sw(i_‘. Eme +he myese %.MC,LM WLV so thot pe cor wnre

X, =V (YY) Xo = Y, %)

_S,cqfl: e the o/\”"J’M o‘g VWXV SPY

2V ol

j = > o>de
S SVz

o\ath e

Sﬁef}! g}(g,,;ﬂ = /j/ . 7{ (v, Cg,,gt)/ VZ(J,,g,))

(S21a PST) et X 2% denoke bwo mliulas Rk with  K5(2) diswbar) Depe
Y. = X, o= X+ ¥

B) Fud e roppe of YA

L) Find the ot pap of Y ALY, %Cgu}@)

€) P e weprel ple of Y L% Ao Yo L% ]

~

2~

O <x,x, <O

X
CQ)'-TLL Amsriz of Xiois &(}q):%e —Z-/ £)(7_(LL>: ’2(:6_



~

2~

@0: Tk émsr 0,[2 Xy ois ,Y.-{ (x) = 1—6—% 38)(& (x;,,): 5(:6- O <xp,%, <O
V=X <€ (0 =) ¥, = X €0, sb) »><+>a 7#>9,>V
X\ /
(b> {L(*O =) = 1E>< (x) Wﬁ)(z (%) because X\ L)X ore &
— _?Eé’}zl __&_CF—ZCZ—Z = —IZ‘ ‘C-‘ z O< X, X2 <00,
Sep)) V=X =U (X, ) Yo XX 4a(, %)
X=Y=uOhn)  Xe= Kt )= X =%y
Vilgn 2=, /2 ”
Vl(éjuﬁz) ;/vl”’}’
dV 2% O
Step L J= /a;:— Yo — "Z
3 Ve
Foal s L F
1J) = L)1- o) =
[m:ml' 'LF M GeTx

Sk’Pg g—(gu}b> = /j/ 7‘8(‘/1 D), o (}’/91))

—Z <

j' f(jl / yz’;’!) ( ﬁ[zlzzz):{jé =




iﬁ(il % yz 3) ( 7{[1//12 ”1/7 e
,(,— _‘o”(’r(yz—a’() _

S~ \\
('s
o

P —Je =92 oo
CC) 97,‘ (}1) = Tg_(@l)glq_> AJL = J\_ZI_C =z c[;q’ — ,_8,,—25 / _

2.
2 9 %:é”z
oD ) L
—e © e )=
- . (_ z _’ ZC
D
W
-
gL\/ (yl> 5 c
d I

g\/(ﬁjm) ;O#LCT O, <©

Qe T LA g ] VO Becose i VDY, voill be gt
then we woll hare g\/(;l,) ° 3‘\/, /i"/):;'@?)ﬂt)

i "o"l _dqzﬁvéh_ # ~L -—91 %
&

Uoz‘, mc_f(y.mc(mt'/




EXZ" Dgure hat the i school &M& ]OOME awcye, DF oL stént /X/ ond (/o//?k
%N&‘Aw&/\ P of a st t,\// Sictbuled ocrdév‘?/o/ to a biveake. ol diskilupn
WMA Pommuﬁ

My=2 /M\/:L,;/ Oy =04, %=[25 , EXf= 32
(O) Fand F: W(X/Y)

VY _ o
Yol {)3 iﬂ Cou (53Y) = EXY— BXEY
o Oy = B3 — X 4ar

= 122 — 2.5

= 0.
B WAy t



